m CONSTRUCTION
MANUAL

Z2IE B[R] /Time to build: 90 min
% K% /Max weight: 50Kg




AT RET B BT R

Tighten the bolts with full force to prevent them coming loose.

2 @3@@ 7
() .
77 R — e S P P E A B,

B EREENE, EA
HE, R R .

-—— -

¢
\
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
{

The positioning blocks are some
of the smallest parts but they
also some of the most important.
Putting them in the right place is
a key of the DOCYKE.

_______________________

N
P e

- —————— == -




240mm







M8x20




— M EER 5°, 15°, 25°......% :
— A %2 3 % 10°, 20°, 30°...... & !

- —— -

______________________________

There are two types of knurled discs :
One can be installed in 5°, 15°, 25°, etc.

The other can be installed in 10°,20°,30°etc.

- —— -

M8x33

e




M8x20




M8X20=2

EF FRPRE.

Repeat the steps as figure.



M8X20

M8X20=2

e e e e - -

AR IRET B AUT R

| Tighten the bolts with full force to :

prevent them coming loose.

________________________




M8x33




M8X50

?8Xp16xh1.6

HE FRPEK.

Repeat the steps as figure.




M8x20 \ﬁ




M8X20=3

WREREMEE, REEE, ERNLE, KABRRERA.

If you have any questions, or better ideas, welcome to

contact us. www. DOCYKE. com




_ AN

1USToM XBj|

3906




